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19t ABC #, F 3R E SHAT: {1 AB 3R AC W ftora foig 39 wowi & 16 FE || BC aﬁ'{FEﬁIWEﬁW
STeT Ter &Y Wit i farsfre e ¥, AD L BC 3R AD, FE % G W fiede e #1 61 GD:AG=2

In triangle ABC, F and E are the point on the side AB and AC, respectively, such that FE || BC and FE
divides the triangle in two parts of equal areas, AD L BC and AD intersects FE at G. then GD:AG=?
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st ABC H, ABﬁAC%mﬁmﬁw%mﬁaomﬁﬁﬁ%mﬁABoc 122°, A
AAah‘rnTcr%"

In triangle ABC, the bisector of £ZB and £ZC meet at point O, inside the triangle. If ZBOC =
122°, then the measure of ZA is?
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AABC, APQR % WA gl Tid AABC FR APQR & TRATIT kT TTUT 3: 7%3ﬁ'{PQ 21 9H
Tt AB Y TS (@t &) Rt 87

AABC is similar to APQR. If ratio of perimeters of AABC and APQR is 3:7 and PQ = 21 cm,
then the length of AB (in cm) is ?
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qmﬁaﬁgm%mﬁmaﬁvﬁwaﬁﬂ 1260° BT 31 T 35 ATt v st e wor
HT A T?

The sum of the interior angles of a regular polygon is 1260°. What is the difference between an
exterior angle and an interior angle of the polygon?
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e AABC H 9fiehs P 8, ZBPC = 130°, a7 ZBAC &7 |1 (feTit /) = 22

If P is the circum-center in AABC, ZBPC = 130°, then what is the value (in degrees) of
ZLBAC? SSC CPO - (03 July 2017) Shift-I
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4 Y, A PD Y waTS (A ) [T R

Chords AB and CD of a circle intersect externally at P. AB=6 cm,. CD =3 cm and PB=4 cm,
then find the length (in cm) of PD is?
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AABC U, WT{ggeRTd AD, BE 31 CF foig O W HeTdt €1 AABD h &1t <h AAOE ED

ST § STTUTA T %‘?
In AABC, the medians AD, BE and CF meet at O. What is the ratio of the area of AABD
to the area of AAOE? SSC CGL - Mains - (12 Sep 2019)
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Foreger <6 Sy 56 2wl 90 WY 3T 106 ATt §, TEs ufeg Hr afifr fpar 3?

The sides of the triangle are 56 cm, 90 cm and 106 cm, the circumference of its

circumcircle is?
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e 1 AB 5 DC 31 ST 1 5T AB R DC 1 9 g g e 81 1% PC = 5.6
A, PB = 6.3 I 3T AB = 7.7 A, &t CD s ias fhet 22

In a circle, AB and DC are the two chords. When AB and DC are produced. They meet at P. If
PC=5.6 cm, PB=6.3 cm and AB = 7.7 cm, then the length of CD is?
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& TS TR |, PQ = PS = SR 3T LQPS = 40° &, a1 LQPR (%ﬁrfr)aa-rnnam%‘»
In the given figure, PQ = PS = SR and ZQPS = 40°, then what is the value of ZQPR (in

degrees)? SSC CGL - Mains - (19 Feb 2018) Shift-I
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